MN-980 « (021602) « ECR 8437

Kits
25490,
25491

Automatic Self-Leveling
System

INSTALLATION GUIDE

For maximum effectiveness and safety,
please read these instructions completely
before proceeding with installation.

Failure to read these instructions can result in an
incorrect installation.


http://www.carid.com/suspension-systems.html
http://www.carid.com/air-lift/

Introduction . ......... .. . 2

Important System Information ............. ... . . 2
Notation Explanation . . . ... 2
Hardware List. . ... .. 3
Installing the SmartAir Il System . ................. 3
Recommended Compressor Locations. .. ...ttt e 3
Installing the Compressor and Exhaust Solenoid . .. ....................... 4
Installing the Air Line. . .. ... 4
Attaching the Electronic Height Sensor . ......... ... ... .. . . .. 5
Attaching the Magnet and Mounting Bracket. . .. ............ ... ........... 6
Installing the Electrical Components. . .......... ... 7
Installation Diagram. . . .. ... 8
Adjusting the System. . .. ... 11
Checking the System. . . ... ... 11
Troubleshooting Guide ......................... 13
ProductUse. ...... ... ... .. 13
Replacement Information........................ 16
Contact Information .............. ... ... ... .. ... 16

Limited Warranty and Return Policy ............... 17




A

SmartAIR Il

o

Introduction

DANGER

The purpose of this publication is to assist with the installation, maintenance and
troubleshooting of the SmartAir Il System.

It is important to read and understand the entire installation guide before beginning
installation or performing any maintenance, service or repair. The information here
includes a hardware list, tool list, step-by-step installation information, maintenance tips,
safety information and a troubleshooting guide.

IMPORTANT SYSTEM INFORMATION

The system is comprised of an Electronic Height Sensor (EHS), a bracket mounted
magnet, solenoid valve, relay, air compressor, and an interconnecting wire harness. This
system is combined with the previously installed air bags.

The EHS is mounted to the vehicle frame and the magnet is mounted to the axle or leaf
spring. When load is added to the vehicle, the magnet rises above the EHS centerline (as
the suspension is compressed). If the magnet maintains this position for a minimum of 15-
20 seconds, the EHS will turn on the compressor, via the relay, adding air to the air bags.
Air is added until the magnet is re-centered restoring the vehicle to its preset ride height.

When load is removed from the vehicle, the magnet falls below the EHS and energizes
the solenoid valve. This allows the air to escape from the air bags until the magnet is re-
centered, restoring the vehicle to its preset ride height.

NOTATION EXPLANATION

Hazard notations appear in various locations in this publication. Information which is
highlighted by one of these notations must be observed to help minimize risk of personal
injury or possible improper installation, which may render the vehicle unsafe. Notes are
used to help emphasize areas of procedural importance and provide helpful
suggestions. The following definitions explain the use of these notations as they appear
throughout this guide.

INDICATES IMMEDIATE HAZARDS WHICH WILL RESULT IN SEVERE PERSONAL
INJURY OR DEATH.

INDICATES HAZARDS OR UNSAFE PRACTICES WHICH COULD RESULT IN
SEVERE PERSONAL INJURY OR DEATH.

/\ WARNING INDICATES HAZARDS OR UNSAFE PRACTICES WHICH COULD RESULT IN
DAMAGE TO THE MACHINE OR MINOR PERSONAL INJURY.
/N CAUTION
NOTE Indicates a procedure, practice or hint which is important to highlight.




SmartAIR Il ~ o
A4
Hardware List *
Iltem Part# Description.......ccccviieiiiiiiinninnns Qty Item Part# Description.....ccccooeveiiiiiineennnnnn. Qty

A 72119 Electronic Height Sensor (EHS) ............. 1 M 01426 Clamp Bar......c.cccoooiiiiiiiiiicee 1
B 16060  COMPIESSOr....ccceiireearereereesieniesieneeeeeenes 1 N 18435  3/8”-16 Nylon Locking Nut.................... 2
C 21984 Exhaust Solenoid Assembly................... 1 O 18444  3/8"FlatWasher............cccocoeiviiiiiennnn 2
D 26687  HAIMESS ..ccoecouvieieeeieeitie ettt 1 P 17132 #8-18 x 1/2” Self-Tapping Screw.......... 1
E 20946  1/4" Air LiNE..cooviviveeecieiiierireicicieienans 20 ft. Q 11997  Brkt SmartAir Il SENSOr........covvviinirininnn 1
F 10966  MagNet......occcovovvereeeerercerieierenneeieienenenen, 1 R 24752  Butt Splice (12-10GA).......cccoviriiiininn 1
G 10967 Magnet Mounting Bracket....................... 1 S 17263 1/4-14 x 1” Self-Tapping Screw............. 2
H 10466 8" Black Zip Ti€....cocoooeeveereeeeeeenn 12 T 17925 10-24 x 1” Flat Socket Cap Screw.......... 2
| 21838  1/4” x 1/4” x 1/4” Union T€€......coccvveee..... 2 U 18590 1 FlatWasher......ccccooviiniiiiiiiciiiieen, 1
J 17173  14-1/4 x 3/4” Self-Tapping Screw........... 1 V 18591  10-24 Nylon Lock Nut........ccccceeviinnnnnnn 3
K 18600 10-24 x 1.25" Flat Socket Cap Screw..... 1 W 11269 Clamp P, 17 ..o 1
L 10583 3/8"x3.5"x4.5"U-bolt.......cccvvvvrirrennn. 1

* Dual system doubles all quantities

Installing the SmartAir 1l System

RECOMMENDED COMPRESSOR LOCATIONS

Important

LOCATE COMPRESSOR IN DRY, PROTECTED AREA ON VEHICLE.
DIRECT SPLASH OR EXCESSIVE MOISTURE CAN DAMAGE
THE COMPRESSOR AND CAUSE SYSTEM FAILURE.

Disclaimer: If choosing to mount the compressor outside the vehicle, keep in mind the
compressor body must be shielded from direct splash.

Please also remember ...
» To avoid mounting the compressor or Electronic Height Sensor (EHS) in high-heat
environments such as near exhaust or under hood.

* To check to make sure the harness will reach all required components based on
where they will be mounted.

e The compressor can be mounted in any position — vertical, upside down, sideways,
etc.

o)

MN-980 3



8

SmartAIR Il

'

INSTALLING THE COMPRESSOR AND EXHAUST SOLENOID

1. If mounting the compressor outside the cabin, select a rigid mounting location on the
vehicle’s frame or crossmember that shields the compressor from the elements and
heat sources.

2. Once a location has been determined, use self-tapping screws supplied with
compressor to fasten compressor securely to the vehicle. Make sure to attach ground
wire from compressor to one of the mounting screws. (Fig. 9)

NOTE

/\ CAUTION

The compressor and exhaust solenoid must be mounted no more than 24” apart in order
for the wires to reach . Do not extend the wires.

MOUNT THE COMPRESSOR AND EXHAUST SOLENOID AT LEAST 6” FROM
ANY HEAT SOURCES. DO NOT MOUNT THE COMPRESSOR IN THE ENGINE
COMPARTMENT.

3. Mount the exhaust solenoid no more than 24” from the compressor (Fig. 9). Use the
P-clamp (W) and self-tapping screw (J) to securely fasten it to the vehicle.

INSTALLING THE AIR LINE

NOTE

The Schrader valves and air lines included with the air bag kit will be used as part of this
installation. See Figure 9 for complete installation diagram.

1. Cut alength of air line (E) to connect the compressor (B) to the exhaust solenoid (C).

2. Cut a length of air line to connect the exhaust solenoid to a union tee (I) that will feed
one air bag and another union tee.

3. Cut a length of air line to connect to the second union tee that will feed the Schrader
valve and the other air bag.

Tips for installing air lines

When cutting air lines, use a sharp knife or a hose
cutter and make clean, square cuts (Fig. 1). Do not
use scissors or wire cutters because these tools may
deform the air line, causing it to leak around fittings.
Do not cut the lines at an angle.

Do not bend the 1/4” hose at a radius of less than

1” and do not put side load pressure on fitting. The fig. 1
hose should be straight beyond the fitting for 1” before
bending.



SmartAIR Il P

Y
7

ATTACHING THE ELECTRONIC HEIGHT SENSOR (EHS)

1. Using the socket cap screws (T) and nylon lock nut (V), attach the electronic height
sensor (A) to the bracket (Q). (Fig. 2)

Front view Side view

.2
Q Electronic Height Sensor /i

2. Choose a mounting location along the frame rail for the height bracket and sensor.

(Fig. 3)
& CAUTION STAY CLEAR OF ANYTHING THAT MAY COME IN CONTACT WITH THE HEIGHT
SENSOR WHILE THE SUSPENSION TRAVELS IN JOUNCE AND COMPRESSION.

3. Use the self-tapping screws (S) to mount bracket to the frame at the chosen location.
(Fig. 3)

Mounting Mounting
Option 1 Option 2

—————1

Part of bracket
may drop below
the frame if
necessary to take
full advantage of
the range of the
sensor

Jig. 3

(o)

MN-980 5



A

SmartAIR Il

'

7

ATTACHING THE MAGNET AND MOUNTING BRACKET
THE MAGNET HAS A STRONG PULL. USE CARE WHEN HANDLING TO AVOID

A CAUTION PINCHING FINGERS OR SKIN.
1. Place the supplied U-bolt (L) around the leaf springs near the previously mounted
height sensor in either of the two configurations. (Fig. 4)
2. Using Figure 4 as a guide, choose the best mounting method for this vehicle.

NOTE When choosing the mounting method, keep in mind that the center of the magnet must
align with the height sensor when the vehicle is at ride height. The magnet and the height
sensor must be between 17- 1 1/2” apart.

Mounting Mounting
Option 1 Option 2
Magnet
U
magn;a.t Mounting
ounting Bracket
Bracket (Mounted
(mounted to V between clamp
U-bolt on top bar and leaf 17112
of clamp bar) spring) PREEREESN
L G
N
O = Vehicle
= Frame
= Leaf
M = =
- Springs I
O Axle L_//
_ fig. 4
Note locations
of the magnet bracket
in each option
3. Attach the magnet mounting bracket (G) to the U-bolt at the chosen mounting location per
Figure 4. There must be 17-1 1/2” between the magnet and the electronic height sensor
(EHS).
4. Loosely attach the magnet (F) to the bracket using the flat socket cap screw (K), flat
washer (U) and nylon lock nut (V). (Fig. 4)
NOTE The chamfer on the magnet for the socket cap screw faces the inside of the vehicle

toward the electronic height sensor. Leave the magnet loose until the system is ready for
adjustment.

5. Align the center of the magnet with the white line on the height sensor. Once the
magnet is in line, securely tighten the bracket mounting hardware.



SmartAIR I

o

e

7

INSTALLING THE ELECTRICAL COMPONENTS

1. Run the harness from the cab/battery to the exhaust solenoid/compressor location.

NOTE

It may be necessary to drill a hole so that the harness can easily pass through from
the cab/engine compartment to the vehicle frame. Place a grommet or silicone sealant
around any holes that the harness passes through to protect it from abrasive surfaces.

2. Cut off the male terminals on both the harness black wire and compressor red wire.
Use heat shrinkable butt connector (R) to connect the two wires together. Apply heat
using a heat gun. (Fig. 5)

Wiring harness x x To compressor
—/

fig 5

3. Connect the two-pin connector from the solenoid to the mating connector on the main
harness. (Fig. 6)

From wiring harness :i # To exhaust solenoid
fig. 6

4. Using the wire tap provided with the harness, splice the red wire connected to the
5-amp fuse that feeds the Electronic Height Sensor to a keyed ignition source. (Fig. 7)

Inside view of
connector

I
Splice into keyed
on ignition wire

+ ﬁg 7

5. Connect the 6-pin connector on the wiring harness to the mating connector on the
Electronic Height Sensor. (Fig. 8)

Front view Side view

GND p——

(@) &

fig. 8

(o)

MN-980



o R SmartAIR I
A4
Installation Diagram
NOTE: Use Schrader valves
/ and air line fittings included
= with air bag kit. NOTE: S|ng|e

[ B ]

! a.
' AlR LIFT ‘
- 0=
1T 1T {

height sensor
install shown.
Dual height
sensor install
duplicates the
system and
independently
feeds each air bag
assembly.

—Il-eaf-spring
Air spring kit & CAUTION
purchased
separately. The magnet is
very strong and
Chamfered r can pinch skin or

The chamfer on the magnet |
for the socket cap screw small body parts

faces the inside of the I such as fingers.
vehicle toward the
electronic height sensor. I

edge

—l-eaf-spring




SmartAIR Il P

| Bariion ~f Witine, ' T — T T T = — — T | T T T~ -
Portion of VV_mng | Inifr?nveustvgrof Enlarged View|
| Harness Inside Cab | L= = — —
- - = = = - 4
I Optional ring terminal:
Connect wire to a 12V Splice into keyed
constant on power on ignition wire

Ignition

(1)

| source (Use terminal
if connecting

| to battery) Not 5 AMP
| ‘ : used
]
20 AMP
Side View Back View Valve (-) (4) /
30| e Compressor (+) (5) \
85 86

87

Compressor (-) (6)

Compressor

White lineon g  Frontview  Side view
electronic

X Cut off male connectors
height sensor

on wiring harness and
compressor harness and
replace with butt splice.

Solenoid| | Solenoid \
+(3) -4
\ o 54 Compressor

harness
— . )
B

Exhaust
Solenoid

Compressor mounting
hardware included
with the compressor

7\
A4
MN-980 9




8

SmartAIR Il

.

7

6. Attach the terminal end of the white ground wire on the harness to a clean section of
the frame rail using the provided self-tapping screw (P). (Figs. 8 & 9)

NOTE Grind off the paint, surface rust and debris if connecting the ground directly to the frame to
ensure a good connection.

7. Using the butt connector supplied with the harness, attach yellow 12-gauge wire
feeding the relay terminal 30 to one end of the 20-amp fuse holder supplied with the
harness.

8. If choosing to connect the black wire directly to the battery, use the ring terminal
supplied with the harness and attach it to the other end of the fuse holder wire. (Fig. 10)

9. Attach to an appropriate battery-direct 12-volt source on the vehicle.

NOTE A direct connection to the battery is suggested.

10

Optional ring
terminal
Connect wire to
a 12V constant
on power source.
(Use terminal if
connecting to
battery.)

Back View

Jig. 10




SmartAIR I

o

)

/\ CAUTION

7

ADJUSTING THE SYSTEM

1. Make sure that the distance between the face of the magnet and the height sensor is
between 1" and 1 1/2". (Fig. 4)

2. The screw in the center of the magnet must be in line with the white line on the height
sensor when the vehicle is at ride height.

THIS MAGNET IS VERY STRONG. IT IS POSSIBLE FOR THE MAGNET TO PINCH
FINGERS AND SKIN BETWEEN ANOTHER MAGNET OR METAL OBJECT. CARE
SHOULD BE TAKEN WHEN HANDLING THE MAGNET.

3. Adjust the suspension by moving the magnet up or down in the slotted mounting
bracket. It is recommended that the magnet be set a half inch below the white line on
the electronic height sensor to start. Take a reference measurement from the ground
to the rear bumper or the wheel well.

4. Turn the ignition key to the on position and determine if it it reaches the desired
height. If not, adjust the magnet and check it again.

The preferred method of adjusting the system would be to load the vehicle, then adjust the
magnet so that the suspension obtains the desired height. Usually a good starting point would
be to set the vehicle (using the magnet) at a level ride height, or one inch below the stock curb
height unladen (using the measurement taken in step 3).

There is a 15- to 20-second delay in the system. Once the magnet is set in position and
no movement is detected by the Electronic Height Sensor, it will take 15-20 seconds for
the compressor or the exhaust solenoid, to turn on and level the vehicle by inflating, or
deflating, the air springs in the suspension.

Once the desired ride height is obtained, tighten the magnet mounting screw snug. Do
not overtighten.

CHECKING THE SYSTEM

1. Inspect all air line connections for leaks by using a solution of 1/5 dish soap to 4/5
water. Should a leak be detected in a push-lock-fitting, reinstall the air line to the
fitting. Make sure the air line is cut off squarely and that the air line is completely
pushed into the fitting. (Fig. 1)

2. If the compressor or the solenoid fails to function, check the 20- and 5-amp fuses
along with ground connections. Repair and replace as necessary.

o)

MN-980

11



8

SmartAIR Il

12

o

A completed install of the SmartAir Il system.

Jig. 11



SmartAIR I

L]

(@)

Troubleshooting Guide

PROBLEM

CAUSE

The system has a 15- to 20-second delay before the compressor and solenoid will function.

TEST

Compressor doesn'’t run.

Blown 20-amp or 5-amp fuse,
bad ground, poor connection, bad
compressor or Electronic Height
Sensor (EHS).

Check fuses, grounds and connections.
Ground terminal 85 at relay to see if
compressor runs. Unplug compressor and
bench test.

System not exhausting
properly.

Blown 5-amp fuse, bad connections,
bad solenoid or EHS.

Check fuse and connection. Unplug exhaust
solenoid from harness connection. Use
jumper wires to vehicle power and ground

to check operation. Connect one side of
exhaust solenoid connector to power and the
other to ground.

Compressor runs all the
time.

Leak in air line, fitting or exhaust
solenoid, bad relay or EHS.

Locate leak, replace relay or check EHS.

Vehicle does not maintain/
reach ride height.

Bad/leaking exhaust solenoid or
bad EHS or maxed air bag.

Unplug solenoid and test by jumping power
and ground to appropriate circuit in harness to
ensure functions. Check air bag pressure and
make sure air bag pressure is not maxed out
and therefore can’t reach desired ride height.

Nothing happens when the
vehicle is started.

Blown 5-amp fuse, poor ground or
connection.

Check fuses, connections and grounds.

Bad EHS.

Test individual components to verify and ground
terminal 85 (Fig. 9) to test compressor and
harness.

Magnet may not be properly
aligned, may be backward or may
be improper distance from EHS.

Check magnet alignment, distance, and ensure
the chamfered side is facing EHS.

(o)

MN-980

13



i SmartAlR Il

.

Replacement Informationv

» Parts are missing from the kit.

* Need technical assistance on installation or operation.
» Broken or defective parts in the kit.

* Wrong parts in the Kkit.

* Have a warranty claim or question.

Contact the retailer where the kit was purchased:
« If it is necessary to return or exchange the kit for any reason.
« If there is a problem with shipping if shipped from the retailer.
« If there is a problem with the price.





